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301 L2 LS 166,482 160,000 6,482
= 116,538
< 14,983
Al 34,961
01 Al EE 563 166,482 160,000 6,482
OFM=Z(II=) X 166,482
= 116,538
< 14,983
Al 34,961




SN ABI=TD
M zojel =X =
ol EOIQIZ X ABIA BHA (crl ®a)

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

HASE0He &etHl 2 HAH K& 2,330 2,330 0
1,165
233
932

= N H

307 21201 & 2,330 2,330 0
1,165
233
932

= N H

01 2=4d 7=l 2,330 2,330 0
OMASZOQ XEH ¥ A AMH X 2,330
1,165

233
932

= N H

0
o
i
i

J= X& 4,181 4,500 A 319
3,345
167
669

= Hn W

307 21201 A 4,181 4,500 A 319
3,345
167
669

= M W

01 =272l 4,181 4,500 A319
OFMe 2x01+ XA 4,181
3,345

167
669

= MW

o 2=l K& 32,500 41,000 28,500
26,000
1,300
5,200

= N W

308 XXM S0l ™ 32,500 41,000 A 8,500
26,000
1,300
5,200

= W

EAFE I 32,500 41,000 28,500
°o|=dl X& 32,500

26,000
1,300
5,200

= MW

0
2
e
)
b
0z
il
HT
0%
Pl
0

20,100 20,412 A312

4,020
16,080

= M

307 21201 A 20,100 20,412 A312
4,020
16,080

= M

01 =72l 7,740 7,740 0
OZoHel A2Z A XA (82Y) 5,740




COANS = X B
DO =X X

CEMYSX MHIA S

SN FH-SA(EN) - MBAY - BES

=
i

2

Otleo 28+ 2

2H X&(1g)

H

Al

=

= M

1,148
4,592
2,000
400
1,600
12,360
12,360

2,472
9,888

12,672

A 312

= M W

201,114
100,557
20,111
80,446

163,600

47,514

= M W

201,114
100,557
20,111
80,446

163,600

47,514

OFQ HHC-20((9¥)

=z N H

201,114
201,114

100,557
20,111
80,446

163,600

47,514

LETHEAMHBIA BISH™H A

= W

56,160
39,312

3,370
13,478

54,674

1,486

307 glztol &

= MW

56,160
39,312

3,370
13,478

54,674

1,486

o
v

05 ¢ &

e

F
oy

OEEYMHEAMHIA BIRX ALY

= W

56,160

56,160
39,312

3,370
13,478

54,674

1,486

JHMH SXNSE XS AL

= M

523,000

428,000
95,000

538,000

A 15,000

H

348,000
348,000

378,000

230,000

X 23t EH X2 (310F)

H

348,000
348,000
348,000

378,000

230,000

307 21201 A

H

Al

175,000

80,000
95,000

160,000

15,000

A S XA E =

175,000

160,000

15,000
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e =X B8

el

X ZH
S =

Akl = X1 ot

TOHOISR MHIA B

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OXHMMHXE S A (4H0H) 80,000
< 40,000
Al 40,000
OXHMH XSS SHSAL (4 80,000
< 40,000
Al 40,000
OZAMAHHAAC EHHAIX R &S AS 15,000
SOl HoIAIE FHI 124,000 1,500 122,500
401 Al B2 28I 1,500 1,500 0
01 A& HI 1,500 1,500 0
OHUMA=XAE SFEHI 1,500
402 RI2HXt20l ™ 122,500 0 122,500
01 212t 2 AL E = (RER ) 122,500 0 122,500
OFOMOUNFAIE S S A 122,500
FoerAs X 1,321,247 1,101,000 220,247
= 924,873
< 118,912
Al 277,462
301 gt d= 1,321,247 1,101,000 220,247
= 924,873
< 118,912
Al 277,462
01 MEI2EZE 6= 1,321,247 1,101,000 220,247
OXOHel A3 (480Y) 1,321,247
= 924,873
< 118,912
Al 277,462
Zofe sXNd20 XA 469,245 405,177 64,068
= 327,049
< 28,033
Al 114,163
201 Let24E] 2,032 2,032 0
01 At 22l 2,032 2,032 0
O EsIa 332 2,032
OEfBHAl ESXAINZXNE AARAAS
100,000& = 18] » 49 400
SENBAl 22 XA A0SR
102,600& * 43| » 39 1,232
oEHEHAl Ol2 Al E &l o2 &3l
100,000& = 23] » 29 400
307 21201 A 467,213 403, 145 64,068
= 327,049
< 28,033
Al 112,131
05 BIZHRIE 3 467,213 403, 145 64,068
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2N
X ZH -
L= B

el

Akl = X1 ot
gopel =X sa
ZOHA=SX MHIA &4

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
301 gt L= 1,250 300 950
= 1,000
< 50
Al 200
01 MEI2EZE %06z 1,250 300 950
O34 g3HlE XA 1,250
= 1,000
< 50
Al 200
Ao+ (IHa S) 214,286 240,000 AN25,714
= 150,000
< 19,286
Al 45,000
301 L2 A S 214,286 240,000 AN25,714
= 150,000
< 19,286
Al 45,000
01 A EE E 563 214,286 240,000 A25,714
QXM=Y XA (K& ) 214,286
= 150,000
< 19,286
Al 45,000
ESEX JIn20 70 90 A20
= 49
< 4
Al 17
307 21201 A 70 90 A 20
= 49
= 4
Al 17
05 BIZHRI & 3 70 90 A 20
OFHe 22X It 20 70
2 49
= 4
Al 17
ZOHQIAIZEHI & X2l X & 44,716 32,200 12,516
= 22,358
< 4,471
Al 17,887
101 124 dl 44,716 32,200 12,516
= 22,358
= 4,471
Al 17,887
4 D12t Z2XEES 44,716 32,200 12,516
OZOHCTAIZEM & Rl X & 44,716
= 22,358
= 4,471




AN ALEI =X

mE: Fojel =X S

Chel: HOHQI=X MHlA &at (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2

| Al 17,887

Zoel ors A& 10,000 0 10,000

307 gl2tol & 10,000 0 10,000

10 M3 SXNANEHISIHEX 10,000 0 10,000
OFoel JtE XNJAAY =& 10,000

ZUI=XAE 29 X2 2,913,074 2,342,049 571,025
< 160,031
Al 2,753,043

Zoper=X2 2 X 953,306 906,211 47,095

307 glz2tol & 953,306 906,211 47,095

10 M3 ZXNANEHI2IHES 953,306 906,211 47,095
OFMEE=X2 2L (1HA) 953,306

ZOHCIMATHEAIE 2 XA 854,864 826,446 28,418

307 glz2+ol & 844,864 826,446 18,418

10 ALSISXAIEEE2EHEX 844,864 826,446 18,418
OXMHAXMATHEAE S G XA (2 A) 844,864
oMM ZAIS & (13Y) 654,464
CHMASSEAA(4Y) 190,400

402 RI2HXt20l ™ 10,000 0 10,000

01 Q12X 2 AP B 2= (REAIXH &) 10,000 0 10,000
O ZAMEE Al RA B 10,000

FUEE2SAY X 57,185 55,086 2,099

307 glz2tol & 57,185 55,086 2,099

11 AMISIAIEE XS 57,185 55,086 2,099
OFH EE 23AY 57,185

ZOoHel XIGAS HEANE 2FR 449,390 429,032 20,358

307 izl & 449,390 429,032 20,358

10 M EXNANEHEI2IHE=X 449,390 429,032 20,358
OXGAsI HEANE 2L XA 449,390
ocxHsSgdH 2F X 211,616
cOlSXNJAEH2I XA 120,621
OFUESHEHZI XA 117,153

ol NEXNIMH 28 A& 30,446 29,416 1,030
< 6,089
Al 24,357

307 gl2tol & 30,446 29,416 1,030
< 6,089
Al 24,357

10 M3 SXNANEHIS2IHEX 30,446 29,416 1,030
OAZZEoHe THEAHMH 2L XA 30,446




N E S
DR =X BT
D EA=TAIL 2% X

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2

= 6,089
Al 24,357

el CIKREAIANSYE XH 59,911 57,886 2,025
== 11,982
Al 47,929

307 2Iz2t0| A 59,911 57,886 2,025
= 11,982
Al 47,929

10 MM SXANEEHESIGHEX 59,911 57,886 2,025
OXHQ Zetada 29 XS (1HN) 59,911
& 11,982
Al 47,929

Hol2AAMDAIE XA 37,972 37,972 0
< 960
Al 37,012

307 giztol A 37,972 37,972 0
< 960
Al 37,012

10 MM SAANEEHESIGHEX 37,972 37,972 0
OS2I MDA S XA 37,972
= 960
Al 37,012

SOOI HFAIE 29X 470,000 0 470,000
o= 141,000
Al 329,000

307 212t0| & 470,000 0 470,000
=} 141,000
Al 329,000

10 AISIEXAIEEHE2IHIEX 470,000 0 470,000
OXEMNUMEAE 29X 470,000
& 141,000
Al 329,000

ZojI=STAIL Jler & 30,000 0 30,000
< 15,000
Al 15,000

ZHUNBHBSHNEE ANLBY 30,000 0 30,000
< 15,000
Al 15,000

402 QI2H X201 M 30,000 0 30,000
= 15,000
Al 15,000

02 CIZEXIE A EX (0| XM THL) 30,000 0 30,000
OXMUXEESES JsE2d 30,000
= 15,000
Al 15,000

8 Y B 22X & 10,472,757 11,088,062 A 615,305




SN ALSI S X
B 0y U B8 =X 3
o 8 =EX MElA 238 o M)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o e 2
= 4,300,401
J| 299,186
= 3,765,240
Al 2,107,930
H&=2X MblA 235t 132,271 115,149 17,122
= 4,100
J| 48,212
< 26,393
Al 53,566
g3 8 Heun=s 6,712 6,112 600
201 ¢er2d] 2,500 1,900 600
01 At 2t 2/l 2,500 1,900 600
O4li =80y, d8JS=2HEI R 2,500
202 oddl 4,212 4,212 0
01 = LH o4 1l 4,212 4,212 0
O4d=Rx gR=2a 4,212
HEZE0IQR ItE X 4,500 4,500 0
301 et A3z 4,500 4,500 0
01 AR 2Z A5 3 4,500 4,500 0
OZs0l2X HE |2
25,0003 = 180 = 13l 4,500
ESHE 25 720 720 0
301 et A= 720 720 0
01 MEIBEE 263 720 720 0
ORRESHYE 23 720
o g A 7,000& * 10¥ = 6 420
oIl =l 30,000& = 109H 300
IIE=EHAEL 29XR 82,908 73,690 9,218
9] 41,454
< 20,727
Al 20,727
307 21201 A 82,908 73,690 9,218
J| 41,454
= 20,727
Al 20,727
10 ALl SXNAIEEE2EHEX 82,908 73,690 9,218
ONE=Ey AdA 29 XA (1HL) 82,908
J| 41,454
< 20,727
Al 20,727
GEZEH ZHANE SML ExU=SE 480 480 0
J| 240
< 120
Al 120
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A S XA E X 480 0 480
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S
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19,440 19,440 0

3,888
Al 15,552
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zZ W
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O0tsHEd XA ds 29 2,000
1,000

200
800

= W

307 21201 A 5,000 5,000 0
2,500

500
2,000

= MW

1A SXAIE E = 5,000 0 5,000

O0tsoged N9l s K& 5,000
2,500

500
2,000

= W

on

JHE=ZY Tk 2 =Hl K& 1,000 1,143 A 143
700
90

Al 210

Hhn X

307 glztol & 1,000 1,143 A 143
J| 700
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A S XAIE E =

OJXE = oA 2=l

Y

Hn

Al

1,000

1,000
700
90
210

1,000

A=A 224l 2tEHl X2

Hhn X

Al

600
420

54
126

600
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1A SXAIE 2 =
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= M
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OtstEXE HME X&

= N W
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1,224
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= W

1,200
600
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01 At2 22l bl
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Z N W
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600
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1,224
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H
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SH: AS =X D
HE: 04 2 2] =X 5

SRR - CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 3,240
Al 22,446
A A #0244 wWs XA 8,526 8,526 0
301 et d = 8,526 8,526 0
09 HALAHIEAS 8,526 8,526 0
OZJo4oatol 0 us 1,500
OWd=8d u=s 1,500
O TH2SAes ¥ S204 UsHE u
s 2,000
OUMBE 20FAU A 0l 676
OLFALBSHE &4 O 2,850
YHESIS2SHAARZSE 23 960 960 0
201 2et24d] 960 960 0
01 At 22l 960 960 0
OgHBSIZ 2RSS
70,000& * 6Y 23] 840
OYLBSIIZ2EHAARS HE #22
= 60,000& * 23 120
A2 ASISXAE BAL SX=L(0H4A) 16,200 16,380 A 180
< 3,240
Al 12,960
307 21201 A 16,200 16,380 A 180
< 3,240
Al 12,960
10 ALSISXAIEEE2GHEX 16,200 16,380 A 180
OAZ ASISXAE SARN SN2 (04) 16,200
< 3,240
Al 12,960
220t X & 643,822 745,789 A 101,967
= 113,493
J| 250,974
< 59,800
Al 219,555
stE2I0E X & 7,500 7,500 0
301 LB A F 7,500 7,500 0
01 Ml28E +06l= 7,500 7,500 0
OMAS 822IHE /=2
25,0003 = 150AICH = 23 7,500
SIRERIIEAH Ots2d=sH S X 132,500 138,240 A5,740
J| 106,000
= 13,250
Al 13,250
301 e A= 132,500 138,240 A5,740
J| 106,000




A AMIEX
M 08 U 28 =X =X
Sl AL X8 EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 13,250
Al 13,250
01 Al B & A 462 132,500 138, 240 AN5,740
OStEEZ2IIE Ols 2= H| 132,500
J| 106,000
= 13,250
Al 13,250
HAUESER Ols¢¥=H S 1,050 600 450
p] 840
= 105
Al 105
301 et A= 1,050 600 450
J| 840
o=} 105
Al 105
01 M3 EXEE 4562 1,050 600 450
OFAESED Ols 2 =H| 1,050
J| 840
& 105
Al 105
MNAS SHE2IIE MEo0d X 75,000 71,346 3,654
&< 15,000
Al 60,000
301 et A= 75,000 71,346 3,654
== 15,000
Al 60,000
01 Al E & A 462 75,000 71,346 3,654
Osts X 2,880
= 576
Al 2,304
ougtdA =l 38,700
= 7,740
Al 30,960
OXNEHUEAAM MEIE = 22,500
= 4,500
Al 18,000
Oz MW= 10,920
= 2,184
Al 8,736
SHE2IJIE AHEHuW=H X 2,274 2,274 0
= 1,137
Al 1,137
301 et A= 2,274 2,274 0
& 1,137
Al 1,137
01 AISIE& A %52 2,274 2,274 0
OstE2ItE eyl (g2 ,2482) 2,274




INE=IE==DNIns
e & 21 22X &
A28 K& Chel: ® &)
- - _ L=
SA BB (SH) - NRAY - B ﬁlgﬁ HRE2
= 1,137
Al 1,137
Olol=8 MHlA K& 162,133 234,873 NT2,740
= 113,493
= 9,728
Al 38,912
307 2Iz2t0| & 162,133 234,873 NT2,740
= 113,493
= 9,728
Al 38,912
11T A EXAIEEX 162,133 234,873 NT2,740
oololE2 HMdlA X 162,133
= 113,493
o=} 9,728
Al 38,912
ChESIIE SSAIY 107,455 122,100 AN 14,645
J| 75,219
& 5,117
Al 27,119
307 QI2t0| ™ 107,455 122,100 AN 14,645
J| 75,219
& 5,117
Al 27,119
11T A EXAIEEX 107,455 122,100 A 14,645
OUESSIE L2USAHA XA 32,940
J| 23,058
== 1,976
Al 7,906
OZE&0|2AH SEHAANHIA X 22,224
J| 15,557
= 1,333
Al 5,334
OUEsIiE AFdoge X 30,129
J| 21,090
= 1,808
Al 7,231
Oogt=0us 29 22,162
J| 15,514
Al 6,648
CESIIIEXN{NH 29 137,830 130,046 7,784
J| 68,915
& 13,783
Al 55,132
307 gizto| & 137,830 130,046 7,784
J| 68,915
& 13,783
Al 55,132
10 MM SAANEEHESIGHEX 137,830 130,046 7,784




A AMIEX
B oy U B8 =21 57
Sl AL X8 EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OURIN=EXNAMLME 2L XA (1MA) 137,830
J| 68,915
= 13,783
Al 55,132
CEsIEXNE NeEds 29 680 22,210 A 21,530
201 2Et24Hy| 680 680 0
01 AP 22| H| 680 680 0
OfIdx=< 70,0008 = 4 * 23| 560
Os £=9tHl & 60,000& = 23| 120
NIAHI IOl & SHALEA 9,000 9,000 0
307 2iz2to| & 9,000 9,000 0
11T AISIEXAIEEX 9,000 9,000 0
OUE2FIIE oSet0rY & At 5,000
OHMAHCIY Y A &I} 4,000
ChEshits Y FHEN otsu=s XI& 8,400 0 8,400
= 1,680
Al 6,720
307 212t0| & 8,400 0 8,400
o 1,680
Al 6,720
11 A EXAIEEX 8,400 0 8,400
OUSSIEXE =20 L2ss NFAY 8,400
& 1,680
Al 6,720
B=MHHA 23 9,593,478 10, 186,758 A 593,280
= 4,152,808
& 3,666,807
Al 1,773,863
ANSESHHLAAZ 29 1,260 1,260 0
201 LBt ]| 1,260 1,260 0
01 AP 22| H| 1,260 1,260 0
ONYESEUAS HaLT
70,0008 = 9¥ « 23| 1,260
22 BSUA 2UHE 500 500 0
201 gEt2d | 500 500 0
01 AF 2t 2| H| 500 500 0
OESWAIEN HE/AY HELE
100,000 * 5% = 13| 500
BSANESAIA DA 22,250 22,250 0
201 et 9| 750 750 0]
01 AP 2t 2| bl 750 750 0




S AMEIA Z3 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OESANESMI H=3 2AsH
250,000& » 3H 750
301 et 8= 21,500 21,500 0
09 SALAHIEA S 21,500 21,500 0
OESAESMIT BEx1= 4,000
OESANESAR H=35 &4 15,000
OZJ0E0lE stotSUE A &2A 2,500
ES ML & A 4,536 4,536 0
202 O4dl 4,536 4,536 0
01 2401l 4,536 4,536 0
OggoEs 248 =X
81,000& » 2 * 2& * 83 2,592
OOtS=EX Y2 =7
81,000& » 2 * 2& * 63 1,944
ESANE MASSE0s NE 78,834 78,215 619
= 22,763
Al 56,071
307 glz2tol & 78,834 78,215 619
< 22,763
Al 56,071
11T M SXASE EX 78,834 78,215 619
ONMNASEOS HE0E LsEHIZ N 8,874
< 1,775
Al 7,099
OMASE B8 BR2RE=2 s N 69,960
= 20,988
Al 48,972
BEAL 2Y4+E B4 X 37,200 29,900 7,300
< 7,440
Al 29,760
307 gl2tol & 37,200 29,900 7,300
< 7,440
Al 29,760
10 AL SXNAIEEE2EHEX 37,200 29,900 7,300
Ongolsy ¢l X 13,000
< 2,600
Al 10,400
OFRXNE HEold uMu-d X& 14,600
< 2,920
Al 11,680
OS3EUHE0E HAR 12dd X& 9,600
< 1,920
Al 7,680
ESANE SAXN HRIME XA 201,755 178,055 23,700
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